

**FEDERAL HIGHWAY ADMINISTRATION
MARYLAND DISTRIBUTION FORMULA
STATE FISCAL YEAR 2024**

FFY 2023
FHWA Notice N4510.870
AVAILABLE FOR MPO DISTRIBUTION

9,330,973

\$9,330,973

	FY 2010 URBANIZED POPULATION	AIR QUALITY FACTOR	FACTORED URBANIZED POPULATION	PERCENT OF FACTORED URBANIZED POPULATION	FY 2024 ALLOCATION
ANNE ARUNDEL					
BALTIMORE CITY					
BALTIMORE COUNTY					
CARROLL					
Westminster					
HARFORD					
Aberdeen					
Havre de Grace					
Bel Air					
HOWARD					
BALTIMORE REGION	2,430,686	1.3	3,159,892	50.95%	\$4,753,837
FREDERICK					
MONTGOMERY					
PRINCE GEORGE'S					
CHARLES					
St. Charles					
WASHINGTON REGION	2,050,251	1.3	2,665,326	42.97%	\$4,009,798
ALLEGANY					
CUMBERLAND REGION	49,619	1.0	49,619	0.80%	\$74,648
WASHINGTON					
HAGERSTOWN REGION	101,406	1.3	131,828	2.13%	\$198,326

FEDERAL HIGHWAY ADMINISTRATION
 MARYLAND DISTRIBUTION FORMULA
 STATE FISCAL YEAR 2024

	FY 2010 URBANIZED POPULATION	AIR QUALITY FACTOR	FACTORED URBANIZED POPULATION	PERCENT OF FACTORED URBANIZED POPULATION	FY 2024 ALLOCATION
CECIL					
WILMINGTON REGION	48,690	1.3	63,297	1.02%	\$95,226
WICOMICO					
Salisbury					
SALISBURY REGION	73,493	1.0	73,493	1.18%	\$110,565
Calvert					
St. Mary's					
CALVERTST.MARY'S COUNTY REGION	58,875	1.0	58,875	0.95%	\$88,573
TOTAL ALL MPOS	4,813,020		6,202,330	100.00%	9,330,973

**FEDERAL HIGHWAY ADMINISTRATION
MARYLAND DISTRIBUTION FORMULA
STATE FISCAL YEAR 2024**

FFY 2023 Complete Streets 233,274
 FHWA Notice N4510.870
AVAILABLE FOR MPO DISTRIBUTION \$233,274

	FY 2010 URBANIZED POPULATION	AIR QUALITY FACTOR	FACTORED URBANIZED POPULATION	PERCENT OF FACTORED URBANIZED POPULATION	FY 2024 ALLOCATION
ANNE ARUNDEL					
BALTIMORE CITY					
BALTIMORE COUNTY					
CARROLL					
Westminster					
HARFORD					
Aberdeen					
Havre de Grace					
Bel Air					
HOWARD					
BALTIMORE REGION	2,430,686	1.3	3,159,892	50.95%	\$118,846
FREDERICK					
MONTGOMERY					
PRINCE GEORGE'S					
CHARLES					
St. Charles					
WASHINGTON REGION	2,050,251	1.3	2,665,326	42.97%	\$100,245
ALLEGANY					
CUMBERLAND REGION	49,619	1.0	49,619	0.80%	\$1,866
WASHINGTON					
HAGERSTOWN REGION	101,406	1.3	131,828	2.13%	\$4,958

FEDERAL HIGHWAY ADMINISTRATION
MARYLAND DISTRIBUTION FORMULA
STATE FISCAL YEAR 2024

	FY 2010 URBANIZED POPULATION	AIR QUALITY FACTOR	FACTORED URBANIZED POPULATION	PERCENT OF FACTORED URBANIZED POPULATION	FY 2024 ALLOCATION
CECIL					
WILMINGTON REGION	48,690	1.3	63,297	1.02%	\$2,381
WICOMICO					
Salisbury					
SALISBURY REGION	73,493	1.0	73,493	1.18%	\$2,764
Calvert					
St. Mary's					
CALVERTST.MARY'S COUNTY REGION	58,875	1.0	58,875	0.95%	\$2,214
TOTAL ALL MPOS	4,813,020		6,202,330	100.00%	233,274

**FEDERAL TRANSIT ADMINISTRATION
MARYLAND DISTRIBUTION FORMULA
STATE FISCAL YEAR 2023**

Obligational Authority 100%
AVAILABLE FOR MPO DISTRIBUTION **\$3,489,486**
[fy-2023-full-year-apportionment-table-2-section-5303-and-5304-statewide-and-metropolitan-planning-01-27-2023.xlsx](#)

	FY 2010 URBANIZED POPULATION	PERCENT OF URBANIZED POPULATION	FY 2024 ALLOCATION
ANNE ARUNDEL			
BALTIMORE CITY			
BALTIMORE COUNTY			
CARROLL			
Westminster			
HARFORD			
Aberdeen			
Havre de Grace			
Bel Air			
HOWARD			
BALTIMORE REGION	2,430,686	50.50%	\$1,762,190
ANNE ARUNDEL			
FREDERICK			
MONTGOMERY			
PRINCE GEORGE'S			
CHARLES			
St. Charles			
WASHINGTON REGION	2,050,251	42.60%	\$1,486,521
ALLEGANY			
CUMBERLAND REGION	49,619	1.03%	\$35,942

**FEDERAL TRANSIT ADMINISTRATION
MARYLAND DISTRIBUTION FORMULA
STATE FISCAL YEAR 2023 (Continued)**

	FY 2010 URBANIZED POPULATION	PERCENT OF URBANIZED POPULATION	FY 2024 ALLOCATION
WASHINGTON			
HAGERSTOWN REGION	101,406	2.11%	\$73,628
CECIL			
WILMINGTON AREA	48,690	1.01%	\$35,244
WICOMICO			
Salisbury			
SALISBURY REGION	73,493	1.53%	\$53,389
Calvert			
St. Mary's			
CALVERT ST. MARY'S COUNTY MPO	58,875	1.22%	\$42,572
TOTAL ALL MPOS	4,813,020	100.00%	3,489,486

SUMMARY OF STATE FY 2024 (FFY 2023) FEDERAL PLANNING FUND DISTRIBUTION

	<u>FHWA - Total</u>	<u>Open Funding</u>	<u>2.5% Comp Sts</u>	<u>FTA</u>	<u>TOTAL FEDERAL</u>	<u>LOCAL*</u>	<u>GRAND TOTAL</u>	<u>State</u>	<u>Local</u>	<u>State & Federal</u>	<u>Grand Total</u>
BALTIMORE REGION	\$ 4,753,837	\$ 4,634,991	\$ 118,846	\$ 1,762,190	\$ 6,516,027	\$ 1,629,007	\$ 8,145,034	\$ 814,503	\$ 814,503	\$ 7,330,531	\$ 8,145,034
WASHINGTON REGION	\$ 4,009,798	\$ 3,909,553	\$ 100,245	\$ 1,486,521	\$ 5,496,319	\$ 1,374,080	\$ 6,870,398	\$ 687,040	\$ 687,040	\$ 6,183,359	\$ 6,870,398
CUMBERLAND REGION	\$ 74,648	\$ 72,782	\$ 1,866	\$ 35,942	\$ 110,590	\$ 27,648	\$ 138,238	\$ 13,824	\$ 13,824	\$ 124,414	\$ 138,238
HAGERSTOWN REGION	\$ 198,326	\$ 193,368	\$ 4,958	\$ 73,628	\$ 271,954	\$ 67,988	\$ 339,942	\$ 33,994	\$ 33,994	\$ 305,948	\$ 339,942
WILMINGTON REGION	\$ 95,226	\$ 92,845	\$ 2,381	\$ 35,244	\$ 130,470	\$ 32,617	\$ 163,087	\$ 16,309	\$ 16,309	\$ 146,778	\$ 163,087
SALISBURY REGION	\$ 110,565	\$ 107,801	\$ 2,764	\$ 53,389	\$ 163,954	\$ 40,989	\$ 204,943	\$ 20,494	\$ 20,494	\$ 184,449	\$ 204,943
<u>LEXINGTON REGION</u>	\$ 88,573	\$ 86,359	\$ 2,214	\$ 42,572	\$ 131,145	\$ 32,786	\$ 163,931	\$ 16,393	\$ 16,393	\$ 147,538	\$ 163,931
TOTAL DISTRIBUTIONS- METRO PLANNING	\$ 9,330,973	\$ 9,097,699	\$ 233,274	\$ 3,489,486	\$ 12,820,459	\$ 3,205,115	\$ 16,025,574	\$ 1,602,557	\$ 1,602,557	\$ 14,423,016	\$ 16,025,574
GRAND TOTAL	\$ 9,330,973	\$ 9,097,699	\$ 233,274	\$ 3,489,486	\$ 12,820,459	\$ 3,205,115	\$ 16,025,574	\$ 1,602,557	\$ 1,602,557	\$ 14,423,016	\$ 16,025,574